dormakaba

15 97 FL XEA

Montageanleitung

WN 059772 45532/14774
2019-12



dormakaba Montageanleitung

TTITTTTTTY
o

2 TS 97 FLXEA WN 059772 45532 2019-12



dormakaba Montageanleitung

=

Ty
OV

TS 97 FLXEA WN 059772 45532 2019-12



dormakaba Montageanleitung

-

5x35
M5 x25

5x35
M5 x25

TS 97 FLXEA

WN 059772 45532

2019-12



dormakaba Montageanleitung

L]

M5 x 10

M5 x 10

TS 97 FLXEA

WN 059772 45532

2019-12




dormakaba Montageanleitung

L]

e

;

@)

TS 97 FLXEA

WN 059772 45532

2019-12



dormakaba Montageanleitung

TS 97 FLXEA WN 059772 45532 2019-12 7




dormakaba Montageanleitung

8 TS 97 FLXEA WN 059772 45532 2019-12



dormakaba Montageanleitung

TS 97 FLXEA WN 059772 45532 2019-12 9



dormakaba Montageanleitung

10 TS 97 FLXEA WN 059772 45532 2019-12



dormakaba Montageanleitung

®

7°-0°©
145° - 0°©)

® 2N © ® O /; ® ©
®@ O ® © SO -

7°-0°

TS 97 FLXEA WN 059772 45532 2019-12



rbehalten

Anderungen vo

/\

/

4

\
/ 105

115°

dormakaba Deutschland GmbH

DORMA Platz 1

58256 Ennepetal

Deutschland

T: +49 2333 793-0

F: +49 2333 793-4950

www.dormakaba.co




